					Number of b
07-4117 Golden Gate Community Park Irrigation					
System RenovationRevised Bid Tabulation					
Opening Date: April 25, 2007					
1 U mm P -7,		Stahlman England Irrigation, Inc.		Hannula Land	dscaping, Inc.
Motorola Option DesignPhase I, Base Bid			J , .		, , , , , , , , , , , , , , , , , , ,
Irrigation Bid Schedule/Option of Probable					
Construction Cost	QTY	Unit Cost	Total Cost	Unit Cost	Total Cost
Constituction Cost	Q I I	Offic COSt	Total Gost	Onit Oost	Total Gost
Existing 8" Irrigation well review & water quality testing	1	\$2,711.63	\$2,711.63	\$5,000.00	\$5,000.00
Existing 6 inigation well review & water quality testing	'	Ψ2,711.03	ΨΖ,711.03	ψ5,000.00	ψ5,000.00
Heaver LICE 400DDV 400/2 MDW 7, 40HD VED Duran					
Hoover HSF-400PDV-460/3-MRW-Z, 40HP VFD Pump					
station. Provide all labor and material necessary.					
Irrigation Contractor to fill all forms and applications					
required.	1	\$58,000.21	\$58,000.21	\$60,000.00	\$60,000.00
Relocate existing Motorola Scorpico controller,					
controller C2. Refer to plan for location(s).	1	\$832.86	\$832.86	\$2,300.00	\$2,300.00
Rainbird ESP-81LX+, LX Plus series 8 station controller. To					
be installed by offices building as a					
replacement for the relocated Scorpio controller.	1	\$313.36	\$313.36	\$657.00	\$657.00
Topiaconion in the isocated Coorpie control		ψο 10.00	φο το.οο	Ψ007.00	φοστ.σσ
Hunter MWS-F, Mini-Weather Station Rain/Wind/					
Freeze sensor with mounting hardware as					
required. Provide (1) unit at existing irrinet controller,					
	2	¢447.70	#050.00	# 000 00	фооо оо
(1) unit at relocated Scorpio controller.	3	\$117.76	\$353.28	\$300.00	\$900.00
Irrigation Contractor to provide electrical service for					
irrigation pump stations and controllers in accordance					
to manufacturer specifications. Provide all labor and hardware					
necessary.	1	\$7,231.00	\$7,231.00	\$15,000.00	\$15,000.00
Bermad 910-P, 4" Hydrometer valve with langed connections.					
Include: Electric solenoid; Filter &					
any other element necessary to communicate with					
Motorola Central Control system. Install within a					
Carson Brooks 3' x 3' Polymere concrete vault box with					
corresponding lid.	3	¢ ጋ ለፍለ ይይ	¢40.262.05	¢4.050.00	¢44 050 00
corresponding liu.	3	\$3,454.65	\$10,363.95	\$4,950.00	\$14,850.00

					Number of b
1120-1120 6" Class 200 PVC gasket main line, Pantome purple 522C.	3190	\$17.91	\$57,132.90	\$18.00	\$57,420.00
1120-1120 4" Class 200 PVC gasket submain, Pantome purple 522C.	1175	\$10.73	\$12,607.75	\$14.50	\$17,037.50
1120-1120 3" Class 200 PVC gasket submain, Pantome purple 522C.	270	\$7.50	\$2,025.00	\$6.00	\$1,620.00
HDPE- Class 150 SDR11 Extra molecular strength 10" irrigation sleeve/casing. Directional bore installation.	100	\$64.18	\$6,418.00	\$85.00	\$8,500.00
HDPE-150 SDR11 Extra molecular strength 3" irrigation sleeve/casing. Directional bore installation.	50	\$19.37	\$968.50	\$55.00	\$2,750.00
HDPE-Class 150 SDR11 Extra molecular strength 2" irrigation sleeve/casing. Directional bore installation.	100	\$15.50	\$1,550.00	\$45.00	\$4,500.00
Irrigation Main Pressure-Check Points. Refer to detail for elements list.	5	\$90.39	\$451.95	\$250.00	\$1,250.00
Irrigation Main Blow offs. Nibco 514 Series 1.5" valve. Refer to detail for elements list.	3	\$316.36	\$949.08	\$990.00	\$2,970.00
Nibco MJ619-RW-SON, 619 Series 6" Irrigation epoxy coated isolation valve with non-rising stem, square nut opening connection, flanged connections. Include 10" corrugated plastic pipe sleeve & 12" rectangular box.	4	\$603.66	\$2,414.64	\$1,250.00	\$5,000.00
Nibco MJ619-RW-SON, 619 Series 4" Irrigation expoxy coated isolation valve with non-rising strem, square nut opening connection, flanged connections. Include 10" corrugated plastic pipe sleeve & 12" rectangular box.	5	\$425.31	\$2,126.55	\$850.00	\$4,250.00

					Number of 6
Nibco MJ619-RW-SON, 619 Series 3" Irrigation epoxy coated isolation valve with non-rising stem, square nut opening connections, flanged connections. Include 10" corrugated plastic pipe sleeve & 12" rectangular box.	1	\$417.16	\$417.16	\$900.00	\$900.00
Hunter ICV-201G-FS, ICV Series 2" Electric solenoid valve with Filter Sentry feature and Matco 514 Series 2" isolation valve at inlet. Install within a Jumbo valve box. One valve unit per box.	34	\$365.80	\$12,437.20	\$750.00	\$25,500.00
Hunter ICV-151G-FS, ICV Series 1.5" electric solenoid valve with Filter Sentry feature and Matco 514 Series 1.5" isolation valve at inlet, Install within a Jumbo valve box.	23	\$293.11	\$6,741.53	\$700.00	\$16,100.00
AGW 14 Guage solid copper insulated control wire suitable for direct burial applications. Install for future zones C3-23 through C3-25, install, coil and bury next C3-26.	1	\$5,375.00	\$5,375.00	\$38,000.00	\$38,000.00
Hunter I-31-ADS, I-31 Series high speed rotary gear head, adjustable, with factory installed Non-Potable Water warning cap. Connected with 1" SCH 40 PVC pre-manufactured swing joint assembly. Refer to plan for nozzle selection.	35	\$226.43	\$7,925.05	\$190.00	\$6,650.00
Hunter I-25-ARS, I-25 Series standard rotary gear head, adjustable/full circle, with factory installed Non-Potable Water warning cap. Connected with 1" SCH 40 PVC pre-manufactured swing joint assembly. Refer to plan for nozzle selection.	68	\$217.39	\$14,782.52	\$195.00	\$13,260.00
Hunter I-20-6P-ADJ, I-20 Series 6" Pop-Up Rotor head, adjustable, with factory installed Non-Potable Water warming cap. Connect with Hunter SJ712, 3/4" x 12" pre-manufactured swing joint. Refer to plan for nozzle selection.	405	\$104.53	\$42,334.65	\$175.00	\$70,875.00

					Number of b
Hunter I-20-SR-ADJ, I-20 Series Shrub riser rotor head, adjustable. Connect with 72" x 3/4" SCH 80 PVC riser. Refer to plan for nozzle selection.	3	\$93.87	\$281.61	\$150.00	\$450.00
Hunter PROS-12R, Pro-Spray 12"High Pop-up spray body with factory instaled Non-Potable Water warming cap. Refer to plan for nozzle selection.	18	\$45.22	\$813.96	\$75.00	\$1,350.00
	10	φ4 5.22	φο13.90	φ/3.00	φ1,350.00
Hunter PROS-06-R, Pro-Spray Series 12" High Pop-up spray body with factory installed Non-Potable Water	0.7			2	40.000.00
warming cap. Refer to plan for nozzle selection.	27	\$41.57	\$1,122.39	\$75.00	\$2,025.00
Phase 1 Base Bid Grand Total			\$258,681.73		\$379,114.50
Cast/Ton for rock removal encountered during trenching			(see bid)		\$500.00
Alternate Bids			(SCC DIG)		φ300.00
Alternate Bid #1The contractor is to remove sod, clay and soil, stockpile separately as directed by the owner. Remove 8" of clay and soil by 130 feet radius from home back fence corner and store as directed by the owner. See attached sketch A. Total soil and clay to be removed is approximately 160 CY. Alternate Bid #2Total Cost to replace the existing Motorola Scorpio Controller			\$21,693.00 \$4,880.89		\$60,000.00 \$45,000.00
Items highlighted in yellow contained a mathamatical error in the original submission. This has been corrected.					
Addendum Acknowledged			Y		Y
Material Manufacturers			Y		· Y
List of Subcontractors			Y		Y
Statement of Experience of Bidder			Υ		Υ
Trench Safety Act			Υ		Υ
Bid Bond			Υ		Υ

07-4117 "Golden Gate Community Park Irrigation Renovation"

Project Manager: Vicky Ahmad

Number of Notices Sent:263 Number Requesting Package:7 Number of Bids Received:

Purchasing Agent: Scott Johnson Witness: Janice Vermillion			
Witness: Janice Vermillion			